Vv ag (velocity of A with respect to B)=v, —vg

apg(acceleration of A with respect to B)=a, —ag

Relative motion along straight line - x_,=x, x,

CROSSING RIVER
A boat or man in a river always moves in the direction of resultant velocity of velocity of boat (or man) and
velocity of river flow. y
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1. Shortest Time : L drift=x ‘\C
Velocity along the river, v_=v_. | e
xR ! ,
Velocity perpendicular to the river, v,=v_ ! /“
d ! ’
The netspeed is given by v, = \/v2. +v2 :
2. Shortest Path : > X

velocity along the river, v =0
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and velocity perpendicular to river v, = JVig V2 B
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The net speed is given by v, = \/v2. —v3 \‘
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at an angle of 90° with the river direction. )
velocity v, is used only to cross the river, Vi \&}Vin
X
¢ _d A
therefore time to cross the river, t = v, = 2 2
y VmrR ~VR

and velocity v_is zero, therefore, in this case the drift should be zero.

Vg V,gSiN6=0 or Vg =V, 4Sin0
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or 0=sinf R
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RAIN PROBLEMS

-9 = 2 2
VRm T VR Vim or Vaw = VYR tVm
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